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Comparing signal samples



  

Cutflow



  

Cut and count

# signal # background S / Sqrt( S + B) S / Sqrt ( S + B 
+ (ΔWZ)²)

ttbar cZ 182 2496 3.52 0.29

ttbar uZ 172 2496 3.33 0.28

ttbar + ST cZ 190 2496 3.66 0.31

ttbar + ST uZ 186 2496 3.59 0.30



  

Zct MVA trained on WZ



  



  



  



  



  

Cut on 0.28



  

Zut MVA trained on WZ



  



  



  



  



  
Cut on 0.04



  



  

Cut and count
# signal # background S / Sqrt( S + B) S / Sqrt ( S + B 

+ (ΔWZ)²)

ttbar cZ 182 2496 3.52 0.29

ttbar uZ 172 2496 3.33 0.28

ttbar + ST cZ 190 2496 3.66 0.31

ttbar + ST uZ 186 2496 3.59 0.30

MVA cut and count
# signal # background S / Sqrt( S + B) S / Sqrt ( S + B 

+ (ΔWZ)²)

ttbar cZ 115 189 6.62 5.92

ttbar uZ 128 619 4.68 4.54
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